
MATHS

BOOKS - PATHFINDER MATHS (BENGALI ENGLISH)

CIRCLE

Question Bank

1. Prove that the radii of circles

 and 

 are in A.p.

Watch Video Solution

x2 + y2 = 1, x2 + y2 − 2x − 6y = 6

x2 + y2 − 4x − 12y = 9

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Fegx97ABpLHZ


2. Find the equation of the circle whose centre is the point of

intersection of the line 2x - 3y + 4 = 0 and 3x + 4y - 5 = 0 and passes

through the origin.

Watch Video Solution

3. A circle has radius 3 units and its centre lies on the line y = x - 1.

Find the equation of the circle if it passes through (7, 3)

Watch Video Solution

4. Find the area of an equilateral triangle inscribed in the circle

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

https://dl.doubtnut.com/l/_C8oLAa4xCavt
https://dl.doubtnut.com/l/_FxLrANgCHtcz
https://dl.doubtnut.com/l/_JHZ1ffSRBu62


5. Find the equation of the circle which passes through the point

(2, -2) and (3, 4) and whose centre lies on the x + y = 2

Watch Video Solution

6. Find the equation of the circle whose diameter is the line joining

the points (-4, 3) and (12, -1). Find also the intercept made by it on

y-axis

Watch Video Solution

7. A circle of radius 2 lies in the first quadrant and touches both

the axes of co-ordinates. Find the equation of the circle with

centre at (6, 5) and touching the above circle externally.

Watch Video Solution

https://dl.doubtnut.com/l/_BES35SqLuq3A
https://dl.doubtnut.com/l/_Mq1fuL1Whdkk
https://dl.doubtnut.com/l/_Zka645mx9XzW


8. A circle of radius 5 units touches co-ordinates axes the first

quadrant. If the circle makes one complete roll on axis along the

positive direction of x-axis along the positive direction of x-axis,

find its equation in the new position.

Watch Video Solution

9. Find the length of tangents drawn from the point (3, -4) to the

circle 

Watch Video Solution

2x2 + 2y2 − 7x − 9y − 13 = 0

10. The chord of contact of tangents drawn from a point on the

circle  to the circle  touches the circle 

 Show that a, b, c are in G.P.

Watch Video Solution

x2 + y2 = a2 x2 + y2 = b2

x2 + y2 = c2

https://dl.doubtnut.com/l/_UvgXn7N9RXmT
https://dl.doubtnut.com/l/_3xKcXv4xsTvd
https://dl.doubtnut.com/l/_ZpZUQacDlMmc


11. Find the equation of the circle which touches the positive y-axis

at a distance of 4 units from the origin cuts off an intercept 6

units from the x-axis.

Watch Video Solution

12. Find the equation of the circle which passes through the origin

and cut off intercept 3 and 4 from the positive parts of the axes

respectively.

Watch Video Solution

13. Find the point(s) of intersection of the line 2x + 3y = 18 and the

circle 

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_ZpZUQacDlMmc
https://dl.doubtnut.com/l/_GQpk8zWrDWK1
https://dl.doubtnut.com/l/_u8UALsjhXaRK
https://dl.doubtnut.com/l/_L46ukXNVkrwG


14. Obtain the locus of the point of intersection of the tangent to

the circle  which include an angle .

Watch Video Solution

x2 + y2 = a2 α

15. A and B are two points in xy-plane, which are  units

distance apart and subtend and angle of  at the point C(1, 2)

on the x - y + 1= 0 which is larger than any angle subtended by the

line segment AB at any other point on the line. Find the

equation(s) of the circle through the points A, B and C

Watch Video Solution

2√2

90∘

16. Two circles each of radius 5 units touch each at (1, 2) If the

equation of their common tangent is 4x + 3y = 10, find the

https://dl.doubtnut.com/l/_L46ukXNVkrwG
https://dl.doubtnut.com/l/_ViHmqZfPJX92
https://dl.doubtnut.com/l/_9DwG8t8FoMEh
https://dl.doubtnut.com/l/_8ciFanAaygQ6


equations of the two circles.

Watch Video Solution

17. One of the diameters of the circle circumscribing the rectangle

ABCD is 4y = x + 7. If A and B are (-3, 4), (5, 4) then find the area of

the rectangle.

Watch Video Solution

18. Find the locus of the mid points of the chords of the circle

 which pass through the origin.

Watch Video Solution

x2 + y2 − 2x − 6y − 10 = 0

https://dl.doubtnut.com/l/_8ciFanAaygQ6
https://dl.doubtnut.com/l/_CnFPRGqJ9ocZ
https://dl.doubtnut.com/l/_yHiW2AbIsEJh


19. The centre of the circle S = 0 lies on the line 2x -2y + 9 = 0 and S

= 0 cuts orthogonally the circle . Show that S = 0

passes through two fixed points and also find the co-ordinates of

these two points.

Watch Video Solution

x2 + y2 = 4

20. The tangents to  having inclinations  and 

intersect at P. If , then the locus of P is :

A. x+y=0

B. x-y=0

C. xy=0

D. xy=1

Answer: C

x2 + y2 = a2 α β

cot α + cot β = 0

https://dl.doubtnut.com/l/_6BJ7EhC6Xogd
https://dl.doubtnut.com/l/_q4HmQtSRItlG


Watch Video Solution

21. The chord of contact of tangents from a point P to a circle

passes through Q, If  and  are the lengths of tangents from P

and Q to the circle, then PQ is equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l1 l2

l1 + l2

2

l1 − l2

2

√(l21 + l22)

√(l21 − l22)

https://dl.doubtnut.com/l/_q4HmQtSRItlG
https://dl.doubtnut.com/l/_SvOl7e7iTf1F


22. If the chord of contact of tangents from a point  to the

circle  touches the circle , then

the locus of  is :

Watch Video Solution

(x1, y1)

x2 + y2 = a2 (x − a)2 + y2 = a2

(x1, y1)

23. The number of common tangents that can be drawn to the

circles  and 

 is :

A. 1

B. 2

C. 3

D. 4

Answer: C

x2 + y2 − 4x − 6y − 3 = 0

x2 + y2 + 2x + 2y + 1 = 0

https://dl.doubtnut.com/l/_Fwmy5007mkzG
https://dl.doubtnut.com/l/_SvQSv2jdA6Ym


Watch Video Solution

24. The circles whose equations are  and 

 will touch one another externally, if :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + c2 = 2ax

x2 + y2 + c2 − 2by = 0

+ =
1

b2

1

c2

1

a2

+ =
1

c2

1

a2

1

b2

+ =
1

a2

1

b2

1

c2

+ =
1

b2

1

c2

2

a2

25. The pole of a straight line with respect to the circle

 lies on the circle . If the straight linex2 + y2 = a2 x2 + y2 = 9a2

https://dl.doubtnut.com/l/_SvQSv2jdA6Ym
https://dl.doubtnut.com/l/_8W4h6e50Y9gW
https://dl.doubtnut.com/l/_9mBpoE9fYWDj


touches the circle  , then :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = r2

9a2 = r2

9r2 = a2

r2 = a2

3r2 = a2

26. If one of the circles  and 

 lies within the other, then :

A. , 

B. , 

C. , 

x2 + y2 + 2ax + c = 0

x2 + y2 + 2bx + c = 0

ab > 0 c > 0

ab > 0 c < 0

ab < 0 c > 0

https://dl.doubtnut.com/l/_9mBpoE9fYWDj
https://dl.doubtnut.com/l/_UP4wALw70xHf


D. , 

Answer: A

Watch Video Solution

ab < 0 c < 0

27. The circle  and 

intersect at an angle of :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + x + y = 0 x2 + y2 + x − y = 0

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_UP4wALw70xHf
https://dl.doubtnut.com/l/_UiRN2URSrQXU


28. The locus of the centre of the circle which cuts orthogonally

the circle  and which touches x=2 is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 20x + 4 = 0

x2 = 16y

x2 = 16y + 4

y2 = 16x

y2 = 16x + 4

29. If one of the diameters of the circle

 is a chord to the circle with centre

(2,1), then the radius of the circle is

A. 

x2 + y2 − 2x − 6y + 6 = 0

√3

https://dl.doubtnut.com/l/_xHRgS1Y7Wojs
https://dl.doubtnut.com/l/_Dy673F2TxWuW


B. 

C. 3

D. 4

Answer: C

Watch Video Solution

√2

30. The equation of the circle passing through (2, 0) & (0, 4) and

having the minimum radius is

A. 

B. 

C. 

D. None of these

Answer: B

x2 + y2 = 20

x2 + y2 − 2x − 4y = 0

(x2 + y2 − 4) + λ(x2 + y2 − 16) = 0

https://dl.doubtnut.com/l/_Dy673F2TxWuW
https://dl.doubtnut.com/l/_jgnj7JoP7S5L


Watch Video Solution

31. If the lines 2x-3y-5=0 and 3x-4y=7 are diameters of a circle of

area 154 sq. units, then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 + 2x − 2y − 47 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 − 2x + 2y − 62 = 0

32. If P(2,8) is an interior point of the circle

, which neither touches nor intersectsx2 + y2 − 2x + 4y − p = 0

https://dl.doubtnut.com/l/_jgnj7JoP7S5L
https://dl.doubtnut.com/l/_kaU7MyKjM7UR
https://dl.doubtnut.com/l/_tq903KdGIBuN


the axes, then set of value of p, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p < − 1

p < − 2

p > 96

ϕ

33. A,B,C,D are the points of intersection with the coordinate axes

of the line ax+by=ab and bx+ay=ab. Then

A. A,B,C,D are concyclic

B. A,B,C,D forms a parallelogram

C. A,B,C,D forms a rhombus

https://dl.doubtnut.com/l/_tq903KdGIBuN
https://dl.doubtnut.com/l/_uLIWV6SP6nJn


D. None of these

Answer: A

Watch Video Solution

34. If a circle passes through the point (a, b) and cuts the circle

 orthogonally then the equation of the locus of its

centre is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = K2

2ax + 2by − (a2 + b2 + K2) = 0

2ax + 2by − (a2 − b2 + K2) = 0

x2 + y2 − 3ax − 4by + (a2 + b2 − K2) = 0

x2 + y2 − 2ax − 2by + (a2 − b2 − K2) = 0

https://dl.doubtnut.com/l/_uLIWV6SP6nJn
https://dl.doubtnut.com/l/_y7I0IDU8sEn0


35. Equation of chord AB of circle  passing through

P(2,2) such that PB/PA = 3, is given by

A. x=3y

B. x=y

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 2

y − 2 = √3(x − 2)

36. Two circles with radii a and b touch each other externally such

that  is the angle between the direct common tangents

 , then

θ

(a > b ≥ 2)

https://dl.doubtnut.com/l/_y7I0IDU8sEn0
https://dl.doubtnut.com/l/_HYSRtSTb6Yz7
https://dl.doubtnut.com/l/_Z0aQvznbuJlW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

θ = 2 cos − 1( )
a − b

a + b

θ = 2 tan− 1( )
a + b

a − b

θ = 2 sin− 1( )
a + b

a − b

θ = 2 sin− 1( )
a − b

a + b

37. If the tangent at the point P on the circle

 meets the straight line 5x - 2y + 6 = 0 at a

point on the y-axis, then the length of PQ is

A. 4

B. 

C. 5

x2 + y2 + 6x + 6y = 2

2√5

https://dl.doubtnut.com/l/_Z0aQvznbuJlW
https://dl.doubtnut.com/l/_hdsDocb21mxq


D. 

Answer: C

Watch Video Solution

3√5

38. The number of common tangents that can be drawn to the

circles  and 

 is :

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0

x2 + y2 + 2x + 2y + 1 = 0

https://dl.doubtnut.com/l/_hdsDocb21mxq
https://dl.doubtnut.com/l/_iNtKbvOaiaUF


39. Equation of a circle with centre (4, 3) touching the circle

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 1

x2 + y2 − 8x − 6y − 9 = 0

x2 + y2 − 8x − 6y + 11 = 0

x2 + y2 − 8x − 6y − 11 = 0

x2 + y2 − 8x − 6y + 9 = 0

40. If two circles  and 

 intersect in two distinct points then

A. 

(x − 1)2 + (y − 3)2 = r2

x2 + y2 − 8x + 2y + 8 = 0

2 < r < 8

https://dl.doubtnut.com/l/_iNtKbvOaiaUF
https://dl.doubtnut.com/l/_KpYoeJ6SdFsT
https://dl.doubtnut.com/l/_ebxpnVLfBCDq


B. 

C. r=2

D. 

Answer: A

Watch Video Solution

r < 2

r > 2

41. The common chord of  and 

 subtends at the origin an angle equal to

A. 

B. 

C. 

D. 

Answer: D

x2 + y2 − 4x − 4y = 0

x2 + y2 = 16

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_ebxpnVLfBCDq
https://dl.doubtnut.com/l/_3emG7ol2zELJ


Watch Video Solution

42. The angle between a pair of tangents drawn from a point P to

the circle 

 is  


The equation of the locus of the point P is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 4x − 6y + 9 sin2 α + 13 cos2 α = 0 2α

x2 + y2 + 4x − 6y + 4 = 0

x2 + y2 + 4x − 6y − 9 = 0

x2 + y2 + 4x − 6y − 4 = 0

x2 + y2 + 4x − 6y + 9 = 0

https://dl.doubtnut.com/l/_3emG7ol2zELJ
https://dl.doubtnut.com/l/_s0cnsEJxedHv


43. The equation of a circle which has a tangent 3x + 4y = 6 and

two normals given by (x-1) (y-2) = 0 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x − 3)2 + (y − 4)2 = 52

x2 + y2 − 4x − 2y + 4 = 0

x2 + y2 − 2x − 4y + 4 = 0

x2 + y2 − 2x − 4y + 5 = 0

44. The tangents drawn from the origin to the circle

 are perpendicular if

A. 

x2 + y2 − 2rx − 2hy + h2 = 0

h = ± 2r

https://dl.doubtnut.com/l/_LSRGEgm0lPat
https://dl.doubtnut.com/l/_lbSmOijyMDoe


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

h = ± r

r2 + h2 = 1

45. If the chord y = mx + 1 subtends an angle of measure  at the

major segment of the circle  then value of 'm' is

A. 

B. 

C. 

D. 

Answer: D

450

x2 + y2 = 1

1 ± √2

−2 ± √2

−1 ± √2

±1

https://dl.doubtnut.com/l/_lbSmOijyMDoe
https://dl.doubtnut.com/l/_YgfvHDyJ0LiI


Watch Video Solution

46. If one of the circles  and 

 lies within the other, then :

A. 

B. 

C. b = 0

D. None of these

Answer: C

Watch Video Solution

x2 + y2 + 2ax + c = 0

x2 + y2 + 2bx + c = 0

b > 0

b < 0

47. The equation of the circle whose diameter is the common

chord of the circles  and x2 + y2 + 3x + 2y + 1 = 0

https://dl.doubtnut.com/l/_YgfvHDyJ0LiI
https://dl.doubtnut.com/l/_9mfhZ5YfKdIL
https://dl.doubtnut.com/l/_7JoJ5a0GiCol


 is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

x2 + y2 + 3x + 4y + 2 = 0

x2 + y2 + 8x + 10y + 2 = 0

x2 + y2 − 5x + 4y + 7 = 0

2x2 + 2y2 + 6x + 2y + 1 = 0

48. A circle of the coaxial system with limiting points (0, 0) & (1, 0)

is

A. 

B. 

C. 

x2 + y2 − 2x = 0

x2 + y2 − 6x + 3 = 0

x2 + y2 = 1

https://dl.doubtnut.com/l/_7JoJ5a0GiCol
https://dl.doubtnut.com/l/_tvEC7CPfJ1Xt


D. 

Answer: D

Watch Video Solution

x2 + y2 − 2x + 1 = 0

49. If the circle  lies completely inside the

circle  then

A. ,

B. ,

C. ,

D. ,

Answer: B

Watch Video Solution

x2 + y2 + 2a1x + c = 0

x2 + y2 + 2a2x + c = 0

a1a2 > 0 c < 0

a1a2 > 0 c > 0

a1a2 < 0 c < 0

a1a2 < 0 c > 0

https://dl.doubtnut.com/l/_tvEC7CPfJ1Xt
https://dl.doubtnut.com/l/_89HMDcf0NOgT


50. The triangle PQR is inscribed in the circle . If Q

and R have coordinates (3,4) and (-4,3) respectively, then  is

equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 25

∠QPR

π

2

π

3

π

4

π

6

51. If the straight line y = mx is outside the circle

, then

A. 

x2 + y2 − 20y + 90 = 0

m < 3

https://dl.doubtnut.com/l/_FW4RZ1C8nFGp
https://dl.doubtnut.com/l/_L6gcuKQgUB5F


B. 

C. 

D. 

Answer: B

Watch Video Solution

|m| < 3

m > 3

|m| > 3

52. The locus of the centre of the circle which passes through the

origin and cuts off a length 2b from the line x = c is

A. 

B. 

C. 

D. None of these

Answer: C

y2 + 2cx = b2 + c2

x2 + cx = b2 + c2

y2 + 2cy = b2 + c2

https://dl.doubtnut.com/l/_L6gcuKQgUB5F
https://dl.doubtnut.com/l/_3VcL86Q1Gy0H


Watch Video Solution

53. Let  be a regular hexagon inscribed in a circle

of unit radius. Then the product of the lengths of the line

segments ,  and  is

A. 44289

B. 

C. 3

D. 

Answer: C

Watch Video Solution

A0A1A2A3A4A5

A0A1 A0A2 A0A4

3√3

3
√3

2

https://dl.doubtnut.com/l/_3VcL86Q1Gy0H
https://dl.doubtnut.com/l/_rOOY8vj2dfzx


54. In a triangle ABC, right angled at A, on the leg AC as diameter,

semicircle is described. If a chord joins A with the point of

intersection D of the hypotenuse and the semicircle, then the

length of AC equals to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AB. AD

√AB2 + AD2

AB. AD

AB + AD

√AB. AD

AB. AD

√AB2 − AD2

55. The area of the triangle formed by joining the origin to the

points of intersection of the line  and circle √5x + 2y = 3√5

https://dl.doubtnut.com/l/_ToMZPa9i0s7C
https://dl.doubtnut.com/l/_2LoE5mTCqZJD


 is

A. 6

B. 5

C. 4

D. 3

Answer: B

Watch Video Solution

x2 + y2 = 10

56. The value of 'c' for which the set

contains only one point in common is

A. 

B. {-1, 3}

{(x, y) ∣ x2 + y2 + 2x ≤ 1}⋂ {(x, y) ∣ x − y + c ≥ 0)}

( − ∞, − 1]⋃ [3, ∞)

https://dl.doubtnut.com/l/_2LoE5mTCqZJD
https://dl.doubtnut.com/l/_KAWxzMnZ8Tzw


C. {-3}

D. {-1}

Answer: D

Watch Video Solution

57. A pair of tangents are drawn to a unit circle with centre at the

origin and these tangents intersect at A enclosing an angle of .

The area enclosed by these tangents and the arc of the circle is

A. 

B. 

C. 

D. 

Answer: B

600

−
2

√3

π

6

√3 −
π

3

−
π

3

√3

6

√3(1 − )
π

6

https://dl.doubtnut.com/l/_KAWxzMnZ8Tzw
https://dl.doubtnut.com/l/_JdQYo7B6VfwJ


Watch Video Solution

58. A line meets the co-ordinate axes in A and B. A circle is

circumscribed about the triangle OAB. If  and  are the distance

of the tangent to the circle at the origin O from the points A and

B, respectively, then the diameter of the circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

d1 d2

2d1 + d2

2

d1 + 2d2

2

d1 + d2

d1d2

d1 + d2

https://dl.doubtnut.com/l/_JdQYo7B6VfwJ
https://dl.doubtnut.com/l/_IiZU1Ykejd1s


59. If the curves  and 

 intersect at four concyclic

points then the value of a is

A. 4

B. -4

C. 6

D. -6

Answer: B

Watch Video Solution

ax2 + 4xy + 2y2 + x + y + 5 = 0

ax2 + 6xy + 5y2 + 2x + 3y + 8 = 0

60. The distance between the chords of contact of the tangent to

the circle  from the origin and the

point (g, f) is

x2 + y2 + 2gx + 2fy + c = 0

https://dl.doubtnut.com/l/_Mdm4uxQJVCZZ
https://dl.doubtnut.com/l/_XMynb27dcT0A


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

g2 + f 2

(g2 + f 2 + c)
1

2

1

2

g2 + f 2 + c

√g2 + f 2

1

2

g2 + f 2 − c

√g2 + f 2

61. The locus of the centre of a circle radius 2 which rolls on the

outside of the circle  is

A. 

B. 

C. 

D. None of these

x2 + y2 + 3x − 6y − 9 = 0

x2 + y2 + 3x − 6y + 5 = 0

x2 + y2 + 3x − 6y + 5 = 0

x2 + y2 + 3x − 6y + = 0
29

4

https://dl.doubtnut.com/l/_XMynb27dcT0A
https://dl.doubtnut.com/l/_Hd4FwKSNCfbG


Answer: B

Watch Video Solution

62. If in a  (whose circumcentre is at origin),  ,

then for any point (x, y) inside the circumcircle of 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

△ ABC a ≤ sinA

△ ABC

|xy| <
1

8

|xy| >
1

8

< xy <
1

8

1

2

https://dl.doubtnut.com/l/_Hd4FwKSNCfbG
https://dl.doubtnut.com/l/_E1bAJ37RyVpN


63. The point ([P + 1], [P]), (where [.] denotes the greatest integer

function) lying inside the region bounded by the circle

 and , then

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

x2 + y2 − 2x − 15 = 0 x2 + y2 − 2x − 7 = 0

P ∈ [ − 1, 0) ∪ [0, 2)

P ∈ [ − 1, 2) − {0, 1}

P ∈ ( − 1, 2)

64. Find the equation of the circle whose diameter is the line

joining the points (-4, 3) and (12, -1). Find also the intercept made

by it on y-axis

https://dl.doubtnut.com/l/_IpgkyxzqerOp
https://dl.doubtnut.com/l/_8L6QxQwGm8uq


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

2√13

4√13

√2562

65. The circle  touches

A. x-axis

B. y-axis

C. both axis

D. Neither x-axis nor y-axis

x2 + y2 − 8x + 4y + 4 = 0

https://dl.doubtnut.com/l/_8L6QxQwGm8uq
https://dl.doubtnut.com/l/_izwZDjnGjA3S


Answer: B

Watch Video Solution

66. The intercept on the line y = x by the circle  is

 Equation of the circle on  as a

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 2x = 0

¯̄̄ ¯̄¯AB ¯̄̄ ¯̄¯AB

x2 + y2 + x + y = 0

x2 + y2 − x + y = 0

x2 + y2 − x − y = 0

x2 + y2 + x − y = 0

https://dl.doubtnut.com/l/_izwZDjnGjA3S
https://dl.doubtnut.com/l/_TaAOyXA858k6


67. If the equation of a circle is

 then its radius is

A. 3/2

B. 

C. 2/3

D. None of these

Answer: A

Watch Video Solution

3x2 + 3y2 + kxy + 9x + (k − 6)y + 3 = 0

√17
2

68. Let AB be a chord of the circle  Subtending a right

angle at the centre, then the locus of the centroid of the 

as P moves on the circle is

A. a parabola

x2 + y2 = r2

△ PAB

https://dl.doubtnut.com/l/_g71dKi93tJ7l
https://dl.doubtnut.com/l/_u2cwvD3zWybz


B. a circle

C. an ellipse

D. None of these

Answer: B

Watch Video Solution

69. If the circle  bisects the

circumference of the circle  then (a +

b) is equal to

A. 38

B. -38

C. 42

D. None of these

x2 + y2 + 6x + 8y + a = 0

x2 + y2 + 2x − 6y − b = 0

https://dl.doubtnut.com/l/_u2cwvD3zWybz
https://dl.doubtnut.com/l/_8kgoJBLFwQK7


Answer: B

Watch Video Solution

70. If a chord of a circle  makes equal intercepts of

length  of the co-ordinates axes, then

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x2 + y2 = 32

l

|l| < 8

|l| < 16

|l| > 8

https://dl.doubtnut.com/l/_8kgoJBLFwQK7
https://dl.doubtnut.com/l/_CFI2irAUgXar


71. The lngth of the tangent from the point (1, 1) to the circle

 is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x2 + y2 + 4x + 6y + 1 = 0

√13

2√3

√14

72. The equations of the tangents to the circle  which

are inclined at an angle of  to the x- axis are

A. 

x2 + y2 = 25

30∘

y = x√3 ± 5

https://dl.doubtnut.com/l/_65IoMv9ElUnc
https://dl.doubtnut.com/l/_5rSgvLK9uzg0


B. 

C. 

D. None of these

Answer: B

Watch Video Solution

√3y = x ± 10

±√3y = x + 10

73. The number of tangents to the circle

 which pass through the point (3, -2)

are

A. 2

B. 1

C. 0

D. None of these

x2 + y2 − 8x − 6y + 9 = 0

https://dl.doubtnut.com/l/_5rSgvLK9uzg0
https://dl.doubtnut.com/l/_CeauveNjyK2p


Answer: A

Watch Video Solution

74. Let x, y be real variable satisfying the

 Let 

 and 

, then

A. a + b = 18

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

x2 + y2 + 8x − 10y − 40 = 0

a = max {(x + 2)2 + (y − 3)2}

b = min {(x + 2)2 + (y − 3)2}

a + b = √2

a − b = 4√2

a ⋅ b = 73

https://dl.doubtnut.com/l/_CeauveNjyK2p
https://dl.doubtnut.com/l/_AdAKJb4q0AxW


75. The circle  and

A. touches internally

B. touch externally

C. have 3x + 4y - 1 = 0 the common tangent at the point of

contact

D. have 3x + 4y + 1 = 0 as the common tangent at the point of

contact

Answer: B::C

Watch Video Solution

x2 + y2 − 2x − 4y + 1 = 0

x2 + y2 + 4x + 4y − 1 = 0

76. Point M moved on the circle  Then it

broke away from it and moving along a tangent to the circle, cuts

(x − 4)2 + (y − 8)2 = 20

https://dl.doubtnut.com/l/_YlW9U9NGKPWW
https://dl.doubtnut.com/l/_pmD4aOD8qd75


the x-axis at the point(-2, 0) The co-ordinates of a point on the

circle at which the moving point broke away is

A. 

B. 

C. (6, 4)

D. (2, 4)

Answer: B::C

Watch Video Solution

( , )
42
5

36

5

( − , )
2

5
44
5

77. The equation of the tangents drawn from the origin to the

circle  are

A. x = 1

B. y = 0

x2 + y2 − 2rx + 2hy + h2 = 0

https://dl.doubtnut.com/l/_pmD4aOD8qd75
https://dl.doubtnut.com/l/_U0BOBlZAY4ua


C. ,x=0

D. 

Answer: A::C

Watch Video Solution

(h2 − r2)x − 2rhy = 0

(h2 − r2)x + 2rhy = 0

78. The equation of a circle of radius 1 touching the circle

 is

A. 

B. 

C. x^2 + y^2 + 2 sqrt3 y + 2 = 0`

D. 

Answer: B::C

Watch Video Solution

x2 + y2 − 2|x| = 0

x2 + y2 + 2√2x + 1 = 0

x2 + y2 − 2√3y + 2 = 0

x2 + y2 − 2√2 + 1 = 0

https://dl.doubtnut.com/l/_U0BOBlZAY4ua
https://dl.doubtnut.com/l/_nJE2m3ZgNk7p


79. The range of value of 'a' such that angle  between the pair of

tangent drawn from (a, 0) to the circle  satisfies 

, lies in

A. (1, 2)

B. 

C. 

D. (-2, -1)

Answer: B::C

Watch Video Solution

θ

x2 + y2 = 1

< θ < π
π

2

(1, √2)

( − √2, − 1)

80. The centre of a circle passing through the points (0,0),(1,0)and

touching the circle isx2 + y2 = 9

https://dl.doubtnut.com/l/_nJE2m3ZgNk7p
https://dl.doubtnut.com/l/_tYdOEJJLvcCq
https://dl.doubtnut.com/l/_Mc7u7aSULcid


A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

( , )
3

2

1

2

( , )
1

2

3

2

( , 2 )
1

2

1
2

( , − 2 )
1

2

1
2

81. Let  be a straight line passing through the origin and  be

the straight line . If the intercepts made by the circle 

 on  and  are equal then which of the

following equations can represent  ?

A. x + y = 0

B. x - y = 0

L1 L2

x + y = 1

x2 + y2 − x + 3y = 0 L1 L2

L1

https://dl.doubtnut.com/l/_Mc7u7aSULcid
https://dl.doubtnut.com/l/_bT1xnDO72BO9


C. x + 7y = 0

D. x - 7y = 0

Answer: B::C

Watch Video Solution

82. Three sides of a triangle have the equation 

, I = 1, 2, 3. Then  


(where ). Is the equation of the circumcircle of the

triangle if

A. 

B. 

C. 

D. None of these

Li = y − mix = 0

L1L2 + λL2L3 +μ L3L1 = 0

λ ≠ 0, μ ≠ 0

1 + λ + μ = m1m2 + λm2m3 + λm3m1

m1(1 + μ) + m2(1 + λ) + m3(μ + λ) = 0

+ + = 1 + λ + μ
1

m3

1

m1

1

m2

https://dl.doubtnut.com/l/_bT1xnDO72BO9
https://dl.doubtnut.com/l/_5DRN358eMRPZ


Answer: A::B

Watch Video Solution

83. Consider the circle  Let O be the

centre of the circle and tangent at A(7, 3) and passing through A

and B,then

A. area of quadrilateral OACB = 4

B. the radical axis for the family of circles S = O is x + y = 10

C. the smallest possible circle of the family S = 0 is

D. the coordinates of point C are (7, 1)

Answer: A::C::D

Watch Video Solution

x2 + y2 − 10x − 6y + 30 = 0

x2 + y2 − 12x − 4y + 38 = 0

https://dl.doubtnut.com/l/_5DRN358eMRPZ
https://dl.doubtnut.com/l/_3Huqph2d5jRT


84. From a point  a pair of tangents PQ and PR drawn to

circle  such that QR is chord of

contact. Considering PQ and PR as adjacent sides a parallelogram

PQRS is formed. Equation of chord of contact QR is x = 0,  and 

be the circles circumscribing the triangle PQR and QRS. Now

answer the following questions on the basis of above

informations. 

Answer the following question based on above passage : 

Co-ordinate of point  is equal to

A. (3, 2)

B. (2, 3)

C. (3, -1)

D. None of these

Answer: 3

P (α, β)

x2 + y2 − 2x − 2y − 2 = 0

S1 S2

P (α, β)

https://dl.doubtnut.com/l/_3Huqph2d5jRT
https://dl.doubtnut.com/l/_kgnuy6XPvuAz


View Text Solution

85. From a point  a pair of tangents PQ and PR drawn to

circle  such that QR is chord of

contact. Considering PQ and PR as adjacent sides a parallelogram

PQRS is formed. Equation of chord of contact QR is x = 0,  and 

be the circles circumscribing the triangle PQR and QRS. Now

answer the following questions on the basis of above

informations. 

Answer the following question based on above passage : 

Equation of circle  is

A. 

B. 

C. 

D. None of these

P (α, β)

x2 + y2 − 2x − 2y − 2 = 0

S1 S2

S1 = 0

x2 + y2 + 4x − 2y − 2 = 0

x2 + y2 − 2x + 2y − 2 = 0

x2 + y2 + 2x − 2y − 2 = 0

https://dl.doubtnut.com/l/_kgnuy6XPvuAz
https://dl.doubtnut.com/l/_S5VnUyb1KK2C


Answer: 3

View Text Solution

86. If  and we have to find equation of

circle having lx + my + 1 = 0 is a tangent and we can adjust given

condition as  


or  


Centre of circle = (4, 0) and radius = 3 when any two non parallel

lines touching a circle, then centre of circle lies on angle bisector

of lines. 

Answer the following question based on above passage : 

If , then equation of the circle having lx + my +

1 = 0 is a tangent is

A. 

B. 

7l2 − 9m2 + 8l + 1 = 0

16l2 + 8l + 1 = 9(l2 + m2)

(4l2 + 1)
2

= 9(l2 + m2) ⇒ = 3
|4l + 1|

√(l2 + m2)

16m2 − 8l − 1 = 0

x2 + y2 + 8x = 0

x2 + y2 − 8x = 0

https://dl.doubtnut.com/l/_S5VnUyb1KK2C
https://dl.doubtnut.com/l/_ACioBlGOCdGS


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 8y = 0

x2 + y2 − 8y = 0

87. If  and we have to find equation of

circle having lx + my + 1 = 0 is a tangent and we can adjust given

condition as  


or  


Centre of circle = (4, 0) and radius = 3 when any two non parallel

lines touching a circle, then centre of circle lies on angle bisector

of lines. 

Answer the following question based on above passage : 

If , then equation of the circle having lx + my +

1 = 0 is a tangent is

7l2 − 9m2 + 8l + 1 = 0

16l2 + 8l + 1 = 9(l2 + m2)

(4l2 + 1)
2

= 9(l2 + m2) ⇒ = 3
|4l + 1|

√(l2 + m2)

16m2 − 8l − 1 = 0

https://dl.doubtnut.com/l/_ACioBlGOCdGS
https://dl.doubtnut.com/l/_anJrs89KcrEY


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , 0), (3 − 1)
5

3

( , ), (4, − )
5

7

5

7

3

4

( , 0), (4, − )
5

3

3

4

( , ), (3, − 1)
5

7

5

7

https://dl.doubtnut.com/l/_anJrs89KcrEY


88. Match List - I with List-II 

Watch Video Solution

https://dl.doubtnut.com/l/_pm1XRrHJNyaK


89. Match List - I with List-II 

Watch Video Solution

90. The line joining (5, 0) to  is divided internally

in the ratio 2 : 3 at P. If  varies, then locus of P is

(10 cos θ, 10 sin θ)

θ

https://dl.doubtnut.com/l/_lDJphEzZ3C4C
https://dl.doubtnut.com/l/_Ps8Plcz7UcyT


, then the value of m is :

Watch Video Solution

(x − 3)2 + y2 = m2

91.  is a circle with centre at the origin and radius equal to 'r'

and  is a circle with centre at (3r, 0) and radius equal to 2r. The

number of common tangents that can be drawn to the two circle

are :

Watch Video Solution

C1

C2

92. The area of the triangle formed by joining the origin to the

points of intersection of the line  and circle 

 is

Watch Video Solution

√5x + 2y = 3√5

x2 + y2 = 10

https://dl.doubtnut.com/l/_Ps8Plcz7UcyT
https://dl.doubtnut.com/l/_KlQDSgcmJBwj
https://dl.doubtnut.com/l/_t2aVHKIqikXT
https://dl.doubtnut.com/l/_q19cdRTrCTjz


93. A circle touches the X-axis and also touches the circle with

centre (0, 3) and radius 2. The locus of the centre of the circle is

, then k = ?

Watch Video Solution

x2 = 10y + k

94. The polar equation of the circle with centre  and radius

3, is : , then k = ?

Watch Video Solution

(2, )
π

2

r2 − 4r sin θ = k

95. Two straight lines rotate about two fixed points. If they start

from their position of coincidence such that one rotates at the

rate double that of the other. Prove that the locus of their point of

intersection is a circle.

Watch Video Solution

https://dl.doubtnut.com/l/_q19cdRTrCTjz
https://dl.doubtnut.com/l/_AZ4Bu7raylby
https://dl.doubtnut.com/l/_gCgswu4VhclX


96. The side of a square are x = 1, x = 3, y = 2 and y = 4. Find the

equation of the circle drawn on the diagonals of the square as its

diameter

Watch Video Solution

97. The circle  rolls up along the

tangent to it at  by 2 units. Assuming the x-axis as

horizontal, find the equation of the circle in the new position.

Watch Video Solution

x2 + y2 − 4x − 8y + 16 = 0

(2 + √3, 3)

98. If lx + my = 1 touches the circle , prove that the

point (l, m) lies on the circle 

Watch Video Solution

x2 + y2 = a2

x2 + y2 = a− 2

https://dl.doubtnut.com/l/_pQGDAKcOiJSL
https://dl.doubtnut.com/l/_nabjiDrGQWc6
https://dl.doubtnut.com/l/_xDLRmrUWESBY


99. Find the equations of the tangents drawn from the point A(3,

2) to the circle 

Watch Video Solution

x2 + y2 + 4x + 6y + 8 = 0

100. Find the value of  for which the point  is an

interior point of the smaller segment of the circle

 made by the chord whose equation is 3x + 4y +

12 = 0

Watch Video Solution

α (α, α + 2)

x2 + y2 − 4 = 0

101. Prove that the tangent to the circle

 and find its point of contact.`

Watch Video Solution

x2 + y2 − 8x + 6y + 20 = 0

https://dl.doubtnut.com/l/_bayJjxyNlRe6
https://dl.doubtnut.com/l/_Fh9OX1C4lUAS
https://dl.doubtnut.com/l/_WGNUdBUrDWLk


102. Find the equation of the circle which passes through (1, 1) and

cuts orthogonally each of the circles 

and 

Watch Video Solution

x2 + y2 − 8x − 2y + 16 = 0

x2 + y2 − 4x − 4y − 1 = 0

103. A variable circle passes through the point A(a, b) and touches

the x-axis. Show that the locus of the other end of the diameter

through A is 

Watch Video Solution

(x − a)2 = 4by

104. If the two lines  and 

cut the co-ordinates axes in concyclic points. Prove that

Watch Video Solution

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

a1a2 = b1b2

https://dl.doubtnut.com/l/_CPySCQw31JlF
https://dl.doubtnut.com/l/_S6flJNAdSKXH
https://dl.doubtnut.com/l/_yUGMIvLLeqv8


105. The locus of the centre of the circle of radius 2 which rolls on

the inside of the circle

 is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

x2 + y2 + 3x − 6y − 9 = 0

x2 + y2 + 3x − 6y + 5 = 0

x2 + y2 + 3x − 6y − 31 = 0

x2 + y2 + 3x − 6y + = 0
22

4

106. Four distinct points (2k,3k),(1,0),(0,1)and(0,0) lie on a circle for

A. all integral values of k

https://dl.doubtnut.com/l/_yUGMIvLLeqv8
https://dl.doubtnut.com/l/_iBsadBhzwmOU
https://dl.doubtnut.com/l/_DWIm5UEjFa8k


B. 

C. 

D. two values of k

Answer:

Watch Video Solution

0 < k < 1

k < 0

107. The circle described on the line joining the points (0,1),(a,b) as

diameter cuts x-axis at points whose abscissa are roots of the

equation 

A. 

B. 

C. 

D. 

x2 + ax + b = 0

x2 − ax + b = 0

x2 + ax − b = 0

x2 − ax − b = 0

https://dl.doubtnut.com/l/_DWIm5UEjFa8k
https://dl.doubtnut.com/l/_PLghgmdGbUKv


Answer:

Watch Video Solution

108. The centre of a circle passing through the points (0,0),(1,0)and

touching the circle is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 = 9

( , )
3

2

1

2

( , )
1

2

3

2

( , )
1

2

1

2

( , − √2)
1

2

https://dl.doubtnut.com/l/_PLghgmdGbUKv
https://dl.doubtnut.com/l/_k7ag3ESGSX7x


109. One of the diameter of the circle 

is given by

A. x+y=0

B. x+3y=0

C. x=y

D. 3x+2y=0

Answer:

Watch Video Solution

x2 + y2 − 12x + 4y + 6 = 0

110. The coordinates of middle point of the chord 2x-5y+18=0 cut of

by the circle

 is

A. (1,4)

x2 + y2 − 6x + 2y − 54 = 0

https://dl.doubtnut.com/l/_dTpgaH9NQtLl
https://dl.doubtnut.com/l/_f4IKsSWQ8WVm


B. (2,4)

C. (4,1)

D. (1,1)

Answer:

Watch Video Solution

111. If a circle passes through the point intersection of the co-

ordinate axes with the line  and x-2y+3=0 then the

value of is

A. 3

B. 1//3

C. 6

D. none of these

λx − y + 1 = 0

λ

https://dl.doubtnut.com/l/_f4IKsSWQ8WVm
https://dl.doubtnut.com/l/_Lgbrf00m5x5p


Answer:

Watch Video Solution

112. The co-ordinates of the point on the circle

 which is farthest from the origin are

A. (9,3)

B. (8,5)

C. (12,4)

D. none of these

Answer:

Watch Video Solution

x2 + y2 − 12x + 30 = 0

https://dl.doubtnut.com/l/_Lgbrf00m5x5p
https://dl.doubtnut.com/l/_hibOZgRYNYcY


113. If (2,5) is an interior point of the circle

 and the circle neither cuts nor

touches any one of the co-ordinate axes then :

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

x2 + y2 − 8x − 12y + P = 0

P ∈ (36, 47)

P ∈ (16, 47)

P ∈ (16, 36)

114. The range of values of r for which the point

 is an interior point of the major

segment of the circle ,cut-off by the line x+y=2,is

( − 5 + , − 3 + )
r

√2

r

√2

x2 + y2 = 16

https://dl.doubtnut.com/l/_QIyMQpkkcRtO
https://dl.doubtnut.com/l/_WWfYR2LHB6cR


A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

( − ∞, 5√2)

(4√2 − √14, 5√2)

(4√2 − √14, 4√2 + √14)

115. P is a point(a,b) in the first quadrant. If the two circles which

pass through P and touch both the co-ordinates axes cut at right

angles , then

A. 

B. 

C. 

a2 − 6ab + b2 = 0

a2 + 2ab − b2 = 0

a2 − 4ab + b2 = 0

https://dl.doubtnut.com/l/_WWfYR2LHB6cR
https://dl.doubtnut.com/l/_Z9VFRAiIAmxW


D. 

Answer:

Watch Video Solution

a2 − 8ab + b2 = 0

116. The circles having radii r_1 and r_2 intersect orthogonally.

Length of their common chord is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2r1r2

√r2
1 + r2

2

√r2
1 + r2

2

2r1r2

r1r2

√r2
1 + r2

2

√r2
1 + r2

2

r1r2

https://dl.doubtnut.com/l/_Z9VFRAiIAmxW
https://dl.doubtnut.com/l/_0tqZ724pnOeZ


117. The straight line y=mx+c cuts the circle  at real

points if

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 = a2

√a2(1 + m2) ≤ |c|

√a2(1 − m2) ≤ |c|

√a2(1 + m2) > |c|

√a2(1 − m2) > |c|

118. A line is drawn through a fixed point to cut the circle 

 at A and B. Then PA.PB i equal to

P (α, β)

x2 + y2 = r2

https://dl.doubtnut.com/l/_0tqZ724pnOeZ
https://dl.doubtnut.com/l/_GIPZmwVYYIRX
https://dl.doubtnut.com/l/_1AltaI7valtj


A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

(α + β)2 − r2

α2 + β2 − r2

(α − β)2 + r2

119. The condition that the chord  of 

 may subtend a right angle at the centre of the

circle is

A. 

B. 

C. a=2p

x cosα + y sinα − p = 0

x2 + y2 − a2 = 0

a2 = 2p2

p2 = 2a2

https://dl.doubtnut.com/l/_1AltaI7valtj
https://dl.doubtnut.com/l/_kGBUgWJ8cdOT


D. p=2a

Answer:

Watch Video Solution

120. The circles and 

intersect at an angle of

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 + x + y = 0 x2 + y2 + x − y = 0

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_kGBUgWJ8cdOT
https://dl.doubtnut.com/l/_arKnsh8x762o


121. The length of the tangent of the circle

 from the point (-1,-3) is

A. 8

B. 

C. 

D. none of these

Answer:

Watch Video Solution

x2 + y2 − 2x − y − 7 = 0

√8

√12

122. The locus of the mid points of the chords of the circle

 which subtends of angle of 

radians at its centre is

A. 

x2 + y2 + 4x − 6y − 12 = 0
π

3

(x + 2)2 + (y − 3)2 = 6.25

https://dl.doubtnut.com/l/_NEIEwzW6gG1k
https://dl.doubtnut.com/l/_5hGJpFj3umjr


B. 

C. 

D. 

Answer:

Watch Video Solution

(x − 2)2 + (y + 3)2 = 6.25

(x + 2)2 + (y − 3)2 = 18.75

(x + 2)2 + (y + 3)2 = 18.75

123. The straight line  will touch the circle 

,if

A. 

B. 

C. 

D. none of these

Answer:

x cos θ + y sin θ = 2

x2 + y2 − 2x = 0

θ = nπ, n ∈ I

A = (2n + 1)π, n ∈ I

θ = 2nπ, n ∈ I

https://dl.doubtnut.com/l/_5hGJpFj3umjr
https://dl.doubtnut.com/l/_aFT7M8cKi1tT


Watch Video Solution

124. The chord of contact of tangents from a point P to a circle

passes through Q. If  and are the lengths of the tangents from

P and Q to the circle ,then PQ is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

l1 l2

l1 + l2

2

l1 − l2

2

√l21 + l22

2√l21 + l22

https://dl.doubtnut.com/l/_aFT7M8cKi1tT
https://dl.doubtnut.com/l/_yj7QkyshB2Nr


125. The co-ordinates of two points P and Q are  and 

 and O is the origin. If circles be described on OP and OQ

as diameters then length of their common chord is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(x1, y1)

(x2, y2)

|x1y2 + x2y1|

PQ

|x1y2 − x2y1|

PQ

|x1x2 + y1y2|

PQ

|x1x2 + y1y2|

PQ

126. Consider a family of circle which are passing through the point

(-1,1) and are tangent to x-axis .If (h,k ) are the coordinates of the

https://dl.doubtnut.com/l/_Oyhrm0XnEFBC
https://dl.doubtnut.com/l/_vNJFT6loi1Ip


centre of the circles, then the set of values of k is given by the

interval

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

k ≥
1

2

k ≥
1

2

k ≤
1

2

0 < k <
1

2

127. If and  are the radii of smallest and largest circles which

passes through (5,6) and touches the circle ,

then  is

A. 

r1 r2

(x − 2)2 + y2 = 4

r1, r2

4
41

https://dl.doubtnut.com/l/_vNJFT6loi1Ip
https://dl.doubtnut.com/l/_omLn6fDjTAj8


B. 

C. 

D. 

Answer:

Watch Video Solution

41
4

5

41

41
6

128. The two circles which passes through (0,a) and (0,-a) and

touch the line  will intersect each other at right angle

,if

A. 

B. 

C. 

D. 

y = mx + c

a2 = c2(2m + 1)

a2 = c2(2 + m2)

c2 = a2(2 + m2)

c2 = a2(2m + 1)

https://dl.doubtnut.com/l/_omLn6fDjTAj8
https://dl.doubtnut.com/l/_qzJtnUiKfFu2


Answer:

Watch Video Solution

129. Area of the triangle formed by the positive x-axis and the

normal and tangent to the circle  at the point is 

 is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

x2 + y2 = 4

(1, √3)

4√3

2√3

√3

https://dl.doubtnut.com/l/_qzJtnUiKfFu2
https://dl.doubtnut.com/l/_ApII4gx4z6HZ
https://dl.doubtnut.com/l/_Ud1qBA3PAGhl


130. if the distances from the origin to the centre of three circles

 are in G.P. ,then the lengths

of the tangents drawn to them from any point on the circle

 are in

A. A.P.

B. G..P.

C. H.P.

D. none of these

Answer:

Watch Video Solution

x2 + y2 + 2λix − c2 = 0(i = 1, 2, 3)

x2 + y2 = c2

131. AB is a diameter of a circle and 'C' is any point on the

circumference of the circle .Then

https://dl.doubtnut.com/l/_Ud1qBA3PAGhl
https://dl.doubtnut.com/l/_FI66iY3sL29y


A. The area of  is maximum when it is isosceles

B. The area of  is minimum when it is equilateral

C. The perimeter of  is maximum when it is right

angled

D. none of these

Answer:

Watch Video Solution

△ ABC

△ ABC

△ ABC

132. The centres of a set of circles, each of radius 3 , lie on the circle

 . The locus of any point in the set is

A. 

B. 

C. 

x2 + y2 = 25

4 ≤ x2 + y2 ≤ 64

x2 + y2 ≤ 25

x2 + y2 ≥ 25

https://dl.doubtnut.com/l/_FI66iY3sL29y
https://dl.doubtnut.com/l/_ft31FEniOqik


D. 

Answer:

Watch Video Solution

3 ≤ x2 + y2 ≤ 9

133. A circle touches the x-axis and also touches the circle with

centre (0,3) and radius2. The locus of the centre of the circle is

A. A circle

B. A parabola

C. An ellipse

D. A hyperbola

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ft31FEniOqik
https://dl.doubtnut.com/l/_tgYGV2Ojtncx


134. A square is inscribed in the circle

 with its sides parallel to the

coordinate axis. The coordinates of its vertices are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 − 2x + 4y − 93 = 0

( − 6, − 9), ( − 6, 5), (8, − 9), (8, 5)

( − 6, − 9), ( − 6, − 5), (8, − 9), (8, 5)

( − 6, − 9), ( − 6, 5), (8, 9), (8, 5)

( − 6, − 9), ( − 6, 5), (8, − 9), (8, − 5)

135. The difference between the radii of the largest and the

smallest circles which have their centre on the circumference of

https://dl.doubtnut.com/l/_tUDJyA0j84RA
https://dl.doubtnut.com/l/_J9KjNLDPXB84


the circle  and pass through the point

(a,b) lying outside the given circle,is

A. 6

B. 

C. 3

D. 

Answer:

Watch Video Solution

x2 + y2 + 2x + 4y − 4 = 0

√(a + 1)2 + (b + 2)2

√(a + 1)2 + (b + 2)2 − 3

136. An isosceles triangle ABC inscribed in a circle 

with the vertex A at (a,0) and the base angle B and C each equal to

 , then coordinates of an point of the base are

A. 

x2 + y2 = a2

75∘

( − √3 , )
a

2
a

2

https://dl.doubtnut.com/l/_J9KjNLDPXB84
https://dl.doubtnut.com/l/_fILtDr0iz5hh


B. 

C. 

D. 

Answer:

Watch Video Solution

( − , a)
√3a

2

( , )
a

2

√3a

2

( − , − )
√3a

2
a

2

137. The equation of circumcircle of an equilateral triangle is

 and one vertex of the triangle is

(1,1).The equation of incircle of the triangle is

A. 

B. 

C. 

x2 + y2 + 2gx + 2fy + c = 0

4(x2 + y2) = g2 + f 2

4(x2 + y2) + 8gx + 8fy = (1 − g)(1 + 3g) + (1 − f)(1 + 3f)

4(x2 + y2) + 8gx + 8fy = g2 + f 2

https://dl.doubtnut.com/l/_fILtDr0iz5hh
https://dl.doubtnut.com/l/_n5oUYuozCk9m


D. none of these

Answer:

Watch Video Solution

138. The number of common tangents to the circles 

and  is

A. 0

B. 1

C. 3

D. 4

Answer:

Watch Video Solution

x2 + y2 = 4

x2 + y2 − 6x − 8y − 24 = 0

https://dl.doubtnut.com/l/_n5oUYuozCk9m
https://dl.doubtnut.com/l/_d9bOnd11ma7x


139. If the points (0,0),(1,0),(0,1) and (t,t) are concyclic, then t=

A. -1

B. 1

C. 2

D. -2

Answer:

Watch Video Solution

140. If a circle of constant radius 3K passes through the origin and

meets the axes at A&B.the locus of the centroid of  is

A. 

B. 

△ OAB

x2 + y2 = k2

x2 + y2 = 2k2

https://dl.doubtnut.com/l/_rWH6gt3NzFn6
https://dl.doubtnut.com/l/_opeDtzdMz4w3


C. 

D. none of these

Answer:

Watch Video Solution

x2 + y2 = 3k2

141. The equation of the circle which touches the axis of y at the

origin and passes through (3,4) is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2(x2 + y2) − 3x = 0

3(x2 + y2) − 25x = 0

4(x2 + y2) − 25x = 0

4(x2 + y2) − 25x + 10 = 0

https://dl.doubtnut.com/l/_opeDtzdMz4w3
https://dl.doubtnut.com/l/_zQ0PqRHScB4M


142. Area of the circle in which a chord of length  makes an

angle  at the centre is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√2

π

2

sq. units
π

2

2πsq. units

π. sq. unit

sq. units
π

4

143. The greatest distance of the point P (10,7) from the circle

 isx2 + y2 − 4x − 2y − 20 = 0

https://dl.doubtnut.com/l/_zQ0PqRHScB4M
https://dl.doubtnut.com/l/_LTsSo3olRxVm
https://dl.doubtnut.com/l/_aHBHTImlz9ww


A. 10 units

B. 15 units

C. 5 units

D. None of these

Answer:

Watch Video Solution

144. The length of the chord cut off by  from the circle 

 is

A. 

B. 

C. 

D. 

y = 2x + 1

x2 + y2 = 2

5

6

6

5

6

√5

√5

6

https://dl.doubtnut.com/l/_aHBHTImlz9ww
https://dl.doubtnut.com/l/_b9Lnvxz501wG


Answer:

Watch Video Solution

145. The common chord of  and 

 subtends at the origin an angle equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 − 4x − 4y = 0

x2 + y2 = 16

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_b9Lnvxz501wG
https://dl.doubtnut.com/l/_x3aD0fJEkyOY


146. If the line  touches  , then the locus

of the point (h,k) is a circle of radius

A. a

B. 

C. 

D. 

Answer:

Watch Video Solution

hx + ky = 1 x2 + y2 = a2

1

a

√a

1

√a

147. The number of tangents that can be drawn from the point

(8,6) to the circle  is

A. 0

x2 + y2 − 100 = 0

https://dl.doubtnut.com/l/_1XfkPFZ8SD7Z
https://dl.doubtnut.com/l/_ztX5HFHTUs8a


B. 1

C. 2

D. None of these

Answer:

Watch Video Solution

148. If the point (k+1,k) lies inside the region bound by the curve

 and the y-axis, then the integral value of k is/are

A. 0

B. 1

C. 2

D. 3

Answer:

x = √25 − y2

https://dl.doubtnut.com/l/_ztX5HFHTUs8a
https://dl.doubtnut.com/l/_l9PZUvtEHs8d


Watch Video Solution

149. The tangents drawn from the origin

 are perpendicular if

A. g=f

B. g=-f

C. g=2f

D. 2g=f

Answer:

Watch Video Solution

x2 + y2 + 2gx + 2fy + f 2 = 0

150. Two circles with radii a and b touch each other externally such

that  is the angle between the direct common tangentsθ

https://dl.doubtnut.com/l/_l9PZUvtEHs8d
https://dl.doubtnut.com/l/_j0oi4QPJfENa
https://dl.doubtnut.com/l/_VQYHaXp18U1N


 , then

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

(a > b ≥ 2)

θ = sin− 1( )
r1 + r2

r1 − r2

θ = 2 sin− 1( )
r1 − r2

r1 + r2

θ = 2 cos − 1(
2√r1r2

r1 + r2

151. If (a,0) is a point on a diameter of the circle , then 

 has

A. exactly one real root in (-1,0]

B. exactly one real root in [2,5]

C. distinct roots greater than -1

x2 + y2 = 4

x2 − 4x − a2 = 0

https://dl.doubtnut.com/l/_VQYHaXp18U1N
https://dl.doubtnut.com/l/_I99ffVh0vO8z


D. distinct roots less than 5

Answer:

Watch Video Solution

152. If  is a point on the circle whose centre is on the x-axis

and which touches the line at (2,-2), then the greatest

value of  is :

A. 

B. 6

C. 

D. 

Answer:

Watch Video Solution

(α, β)

x + y = 0

α

4 − √2

4 + 2√2

4 + √2

https://dl.doubtnut.com/l/_I99ffVh0vO8z
https://dl.doubtnut.com/l/_4XrY99zrQeoF


153. Three concentrict circles of which the biggest is  ,

have their radii in A.P. If the line  cuts all the circles in

real and distinct points. The interval in which the common

difference of the A.P. will lie is :

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

x2 + y2 = 1

y = x + 1

(0, )
1

4

(0, √2)
1

2

(0, )
2 − √2

4

https://dl.doubtnut.com/l/_4XrY99zrQeoF
https://dl.doubtnut.com/l/_u4GpNI1uiWM0


154. A circle of constant radius 'r' passes through origin O and cuts

the axes of coordinates in points P and Q, then the equation of the

locus of the foot of perpendicular from O to PQ is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(x2 + y2)(x− 2 + y− 2) = 4r2

(x2 + y2)
2
(x− 2 + y− 2) = r2

(x2 + y2)
2
(x− 2 + y− 2) = 4r2

(x2 + y2)(x− 2 + y− 2) = r2

155. For each natural number k, let  denotes the circle with

radius k units and centre at the origin. On the circle , a particle

moves k units in the counter clockwise direction. After completing

Ck

Ck

https://dl.doubtnut.com/l/_WOmQbLZB2NSy
https://dl.doubtnut.com/l/_LRVm2526IXO0


its motion on , the particles moves to  , in some well

defined manner, where . The motion of the particle continues

in this manner. 

Answer the following question based on above passage : 

Let l= 1, the particles starts at (1, 0), if the particles crossing the

positive direction of the x-axis for the first time on the circle 

then n is equal to

A. 3

B. 5

C. 7

D. 8

Answer:

Watch Video Solution

Ck Ck+ l

l > 0

Cn

https://dl.doubtnut.com/l/_LRVm2526IXO0


156. For each natural number k, let  denotes the circle with

radius k units and centre at the origin. On the circle , a particle

moves k units in the counter clockwise direction. After completing

its motion on , the particles moves to  , in some well

defined manner, where . The motion of the particle continues

in this manner. 

Answer the following question based on above passage : 

Let l= 1, the particles starts at (1, 0),If  and l = 1, the particles

cross x-axis again at

A. (3, 0)

B. (1, 0)

C. (4, 0)

D. (2, 0)

Answer:

Watch Video Solution

Ck

Ck

Ck Ck+ l

l > 0

k ∈ N

https://dl.doubtnut.com/l/_19T0JmcFMCJ3


Watch Video Solution

157. P is a variable point on the line L = 0. Tangents are drawn to

the circle  from P to touch it at Q and R 


Answer the following question based on above passage : 

If L = 2x + y = 6, then the focus of circumcentre of  is

A. 2x - y = 4

B. x - 2 = 3

C. x - 2y = 4

D. x + 2y = 3

Answer:

Watch Video Solution

x2 + y2 = 4

△ PQR

https://dl.doubtnut.com/l/_19T0JmcFMCJ3
https://dl.doubtnut.com/l/_nAFxI2WZue5S


158. P is a variable point on the line L = 0. Tangents are drawn to

the circle  from P to touch it at Q and R 


Answer the following question based on above passage : 

If L = y = 4, then the locus of the circumcentre of  is

A. y - 2 = 0

B. x - 2 = 0

C. y + 2 = 0

D. x + 2 = 0

Answer:

Watch Video Solution

x2 + y2 = 4

△ PQR

https://dl.doubtnut.com/l/_lFg5WxdAYH9K


159. Match List - I with List-II 

Watch Video Solution

160. Match List - I with List-II 

Let the functions defined in List - I have domain  
( − π/2, π/2)

https://dl.doubtnut.com/l/_eLOao2gJ4xoq
https://dl.doubtnut.com/l/_ev6GupC4R0ZE


Watch Video Solution

161. If two circles  and 

 intersect in two distinct points then

Watch Video Solution

(x − 1)
2

+ (y − 3)
2

= r2

x2 + y2 − 8x + 2y + 8 = 0

162. Radius of a circle cuts the x-axis at two points at distance 4

units from the origin and its centre iS at (0, k), then  = _____

Watch Video Solution

k2

https://dl.doubtnut.com/l/_ev6GupC4R0ZE
https://dl.doubtnut.com/l/_VV8bgBj7yjdX
https://dl.doubtnut.com/l/_oVBrxttf71go


163. Let PQ and RS be tangents at the extremities of one diameter

PR of a circle of radius r. If PS and RQ intersect at a point X on the

circumference of the circle, than  equals_____

Watch Video Solution

2r

√PQ ⋅ RS

164. If the circles  and 

 intersect orthogonally, then k is equal to

_____

Watch Video Solution

x2 + y2 + 2x + 2ky + 6 = 0

x2 + y2 + 2ky + k = 0

165. The equation of the circle which touches the axis of y at a

distance +4 from the origin and cuts off an intercept 6 from the

axis of x is 

, then k - 10 = _____x2 + y2 − 10x − 8y + k = 0

https://dl.doubtnut.com/l/_ZVpWpjjv0Ysu
https://dl.doubtnut.com/l/_Q9B4BZdOQrBA
https://dl.doubtnut.com/l/_bKfpmfdblNDk


Watch Video Solution

166. The circle  is inscribed in a

triangle which has two of its sides along the co-ordinate axes. The

locus of the circumcenter of the triangle is

. Find k.

Watch Video Solution

x2 + y2 − 4x − 4y + 4 = 0

x + y − xy + k(x2 + y2) = 0
1
2

167. Find the intervals of the values of 'a' for which the line y + x = 0

bisects two chords drawn from a point 

to the circle 

Watch Video Solution

( , )
1 + √2a

2

1 − √2a

2

2x2 + 2y2 − (1 + √2a)x − (1 − √2a)y = 0

https://dl.doubtnut.com/l/_bKfpmfdblNDk
https://dl.doubtnut.com/l/_yUUFVyQ0x2up
https://dl.doubtnut.com/l/_t92jyHNNa0vY
https://dl.doubtnut.com/l/_n00JPBajKxAy


168. If the two lines  and 

cut the co-ordinates axes in concyclic points. Prove that

Watch Video Solution

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

a1a2 = b1b2

169. If y = mx is the equation of a chord of the circle

 with radius a, prove that the equation of the

circle on this chord as a diameter is

.

Watch Video Solution

x2 + y2 − 2ax = 0

(1 + m2)(x2 + y2) − 2a(x + my) = 0

170. Find the locus of the mid point of the chord of the circle

 which subtend a right angle at the point (0,0).

Watch Video Solution

x2 + y2 = a2

https://dl.doubtnut.com/l/_n00JPBajKxAy
https://dl.doubtnut.com/l/_GNrnYvoyi3OB
https://dl.doubtnut.com/l/_9wAJQ9goKodf


171. Tangents are drawn to the circle  from P(3,4) to

touch it at A and B. The parallelogram PAQB is completed. Find the

locus of f the point Q.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + y2 = 4

− ,
46
25

63

25

− ,
46
25

68

25

− , −
51

25

68

25

− , ,
68

25

51

25

172. Show that the common tangents to the circles

 and  from an equilateral

triangle.

x2 + y2 − 6x = 0 x2 + y2 + 2x = 0

https://dl.doubtnut.com/l/_uOiGdzuBMeyZ
https://dl.doubtnut.com/l/_6SUJq6RgkTUB


Watch Video Solution

173. Two straight lines rotate about two fixed points. If they start

from their position of coincidence such that one rotates at the

rate double that of the other. Then find the locus of their point of

intersection of two straight lines

Watch Video Solution

174. If two curves, whose equations are

 and 

 intersect in four

concyclic points, prove that 

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

a' x2 + 2h' xy + b' y2 + 2g' x + 2f' y + c' = 0

=
a − b

h

a' − b'

h'

https://dl.doubtnut.com/l/_6SUJq6RgkTUB
https://dl.doubtnut.com/l/_ScNz9Oquyf7g
https://dl.doubtnut.com/l/_IHRORqOZbpcu
https://dl.doubtnut.com/l/_zFVh1CVl2q8R


175. Find the equation of the circle of minimum radius which

contains the three circles 

 


 and 


Watch Video Solution

x2 − y2 − 4y − 5 = 0

x2 + y2 + 12x + 4y + 31 = 0

x2 + y2 + 6x + 12y + 36 = 0

176. The number of common tangents to the circles

 and 

A. 2

B. 3

C. 4

D. 1

Answer: B

x2 + y2 − 4x − 6y − 12 = 0 x2 + y2 + 6x + 18y + 26 = 0

https://dl.doubtnut.com/l/_zFVh1CVl2q8R
https://dl.doubtnut.com/l/_eNBoiPS0u5dd


Watch Video Solution

177. A circle S passes through the point (0, 1) and is orthogonal to

the circles  and . Then

A. radius of S is 8

B. radius of S is 7

C. centre of S is (-7, 1)

D. centre of S is (- 8, 1)

Answer: B::C

Watch Video Solution

(x − 1)2 + y2 = 16 x2 + y2 = 1

178. Let C be the circle with centre at (1, 1) and radius = 1. If T is the

circle centered at (0, Y) passing through origin and touching the

https://dl.doubtnut.com/l/_eNBoiPS0u5dd
https://dl.doubtnut.com/l/_04JuuFoJvSdR
https://dl.doubtnut.com/l/_AV7hDHrEwBJZ


circle C externally, then the radius of T is equal to :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

1

4

√3

√2

√3

2

179. The circle passing through (1, - 2) and touching the axis of x at

(3, 0) also passes through the point

A. (2, - 5 )

B. ( - 2, 5 )

C. ( 5,- 2 )

https://dl.doubtnut.com/l/_AV7hDHrEwBJZ
https://dl.doubtnut.com/l/_2EEN0hhS0ddU


D. ( -5, 2 )

Answer: C

Watch Video Solution

180. A point P lines on the circle . If Q = (5, 12) and R=

(-12, 5) , then angle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 169

∠QPR

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_2EEN0hhS0ddU
https://dl.doubtnut.com/l/_owTIQA01KFM8


181. A circle passing through (0, 0), (2, 6), (6, 2) cuts the x-axis at the

point . Then the length of OP, where O is origin, is

A. 44232

B. 

C. 5

D. 10

Answer: C

Watch Video Solution

P ≠ (0, 0)

5

√2

182. A point moves so that the sum of squares of its distances from

the points (1, 2) and (-2, 1) is always 6. Then its locus is

A. the straight line y -3/2= -3(x+1/2)

https://dl.doubtnut.com/l/_29XpDa4gA7Z8
https://dl.doubtnut.com/l/_UaUvjjAta7Wz


B. a circle with centre (-1/2,3/2) and radius 

C. a parabola with focus (1, 2) and directix passing through (-2,

1)

D. an ellipse with foci (1, 2) and (-2, 1)

Answer: B

Watch Video Solution

√2

183. If one end of a diameter of the circle

 is (3, 4) then the other end is

A. (2, 1)

B. (2, 4)

C. (1, 2)

D. (-4, 2)

x2 + y2 − 4x − 6y + 11 = 0

https://dl.doubtnut.com/l/_UaUvjjAta7Wz
https://dl.doubtnut.com/l/_T9wVQss9jCuW


Answer: C

Watch Video Solution

184. The equation of the circle passing through the point (1, 1) and

the points of intersection of  and 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x + 8 = 0

x2 + y2 − 6 = 0

x2 + y2 + 3x − 5 = 0

x2 + y2 − 3x + 1 = 0

x2 + y2 + 6x − 4 = 0

x2 + y2 − 4y − 2 = 0

https://dl.doubtnut.com/l/_T9wVQss9jCuW
https://dl.doubtnut.com/l/_lLwyr3yLxe8Q
https://dl.doubtnut.com/l/_qcXS2f7S2iH7


185. The equations of the circles which touch both the axes and

the line 4x + 3y = 12 and have centres in the first quadrant, are

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

x2 + y2 − x − y + 1 = 0

x2 + y2 − 2x − 2y + 1 = 0

x2 + y2 − 12x − 12y + 36 = 0

x2 + y2 − 6x − 6y + 36 = 0

186. A tangent PT is drawn to the circle  at the point 

. A straight line L, perpendicular to PT is a tangent to the

circle. 

 


A possible equation of L is

x2 + y2 = 4

P(√3, 1)

(x − 3)2 + y2 = 1

https://dl.doubtnut.com/l/_qcXS2f7S2iH7
https://dl.doubtnut.com/l/_W5lUj52N9EGu


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x − √3y = 1

x + √3y = 1

x − √3y = − 1

x − √3y = 5

187. A tangent PT is drawn to the circle  at the point 

. A straight line L, perpendicular to PT is a tangent to the

circle. 

 


A common tangent of the two circles is

A. x = 4

B. y = 2

x2 + y2 = 4

P(√3, 1)

(x − 3)2 + y2 = 1

https://dl.doubtnut.com/l/_W5lUj52N9EGu
https://dl.doubtnut.com/l/_7KVI2wqoi100


C. 

D. 

Answer: D

Watch Video Solution

x + √3y = 4

x + 2√2y = 6

188. The length of the diameter of the circle which touches the x-

axis at the point (1,0) and passes through the point (2, 3) is ?

Watch Video Solution

189. If the circles  and 

 intersect orthogonally, then k is equal to

_____

A. 2 or -3/2

x2 + y2 + 2x + 2ky + 6 = 0

x2 + y2 + 2ky + k = 0

https://dl.doubtnut.com/l/_7KVI2wqoi100
https://dl.doubtnut.com/l/_0KFdvZ3xgULL
https://dl.doubtnut.com/l/_5gVNzJEHSmiq


B. -2 or -3/2

C. 2 or 3/2

D. -2 or 3/2

Answer: A

Watch Video Solution

190. Four distinct points (2k,3k),(1,0),(0,1)and(0,0) lie on a circle for

A. 

B. 

C. k = 1

D. 

Answer: C

Watch Video Solution

k < 0

0 < k < 1

k > 1

https://dl.doubtnut.com/l/_5gVNzJEHSmiq
https://dl.doubtnut.com/l/_89ZBtE8P1fAX


191. The incentre of an equilateral triangle is ( 1, 1) and the

equation of the one side is . Then the equation of

the circumcircle of the triangle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 4y + 3 = 0

x2 + y2 − 2x − 2y − 2 = 0

x2 + y2 − 2x − 2y − 14 = 0

x2 + y2 − 2x − 2y + 2 = 0

x2 + y2 − 2x − 2y + 14 = 0

192. The circle passing through (-1, 0) and touching the y - axis at

(0, 2) also passes through the point

https://dl.doubtnut.com/l/_89ZBtE8P1fAX
https://dl.doubtnut.com/l/_onQ881igZkef
https://dl.doubtnut.com/l/_BREaumoL4ppL


A. (-3/2,0)

B. (-5/2,0)

C. (-3/2,5/2)

D. (-4,0)

Answer: D

Watch Video Solution

193. The straight line 2x - 3y = 1 divides the circular region

 into two parts. If 


, 


then the number of point(s) in S lying inside the smaller part is

Watch Video Solution

x2 + y2 ≤ 6

S = {(2, ), ( , ), ( , − ), ( , )}
3

4

5

2

3

4

1

4

1

4

1

8

1

4

https://dl.doubtnut.com/l/_BREaumoL4ppL
https://dl.doubtnut.com/l/_6ww2vVrj7e59


194. The two circles  and  touch

each other if

A. 

B. a = 2c

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = ax x2 + y2 = c2(c > 0)

|a| = c

|a| = 2c

2|a| = c

195. If the straight line y = mx is outside the circle

, then

A. 

x2 + y2 − 20y + 90 = 0

m < 3

https://dl.doubtnut.com/l/_OZl2CeFDkUze
https://dl.doubtnut.com/l/_kadUYnid7gnY


B. 

C. 

D. 

Answer: B

Watch Video Solution

|m| < 3

m > 3

|m| > 3

196. The locus of the centre of a circle which passes through two

variable points (a, 0), (-a, 0) is

A. x = 1

B. x + y = a

C. x + y = 2a

D. x = 0

Answer: D

https://dl.doubtnut.com/l/_kadUYnid7gnY
https://dl.doubtnut.com/l/_Jia0pEzLKK5o


Watch Video Solution

197. The intercept on the line y = x by the circle 

is AB. Equation of the circle with AB as diameter is

A. 

B. x(x-1)+y(y-1) = 0

C. 

D. (x-1) (x-2) + (y-1) + (y-2) = 0

Answer: B

Watch Video Solution

x2 + y2 − 2x = 0

x2 + y2 = 1

x2 + y2 = 2

198. If the coordinates of one end of a diameter of the circle

, is (2, 1), the coordinates of the otherx2 + y2 + 4x − 8y + 5 = 0

https://dl.doubtnut.com/l/_Jia0pEzLKK5o
https://dl.doubtnut.com/l/_k6tjd5evUMCA
https://dl.doubtnut.com/l/_mlyZFb86XkwC


end is

A. (-6, -7)

B. (6, 7)

C. (-6, 7)

D. (7, -6)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mlyZFb86XkwC

